fEHTr= O FE:R - 3278 No.304 TR EE

HEFE HEER B K4

B S=ERi] / B o IEAEETE /5

[HEHEE ROy, MHE]

[fREE] O A x T ¥
[ 1 (1) (2 E%BEH) =0 TREND | TRORBROBANRO 5N D,
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1.

(1) 2= f(z,y) = y —I-xy v=g(t)=e? y=h(t)=log,(t?+1) £TBELE,

2= Flg(t).h(1) OB % ERDE

(2) 2= f(z,y) =sin (2m—|—y)—|—cos(x—|—2y) v =g(t,u) =3t%u, y=~h(tu) =2t+u? &7
BEE 2= flglt,u) h(t,u) ORBS F &V I ERD &,
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2. ROBBOEHEEBEEZRD &,
(1) 22 +y? =2 OEHBT, B 2= f(z,y) =Y
(2) y' -y +22 =0 OFHT, B 2= f(z,y) =y
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3. ROEMD 2 BFES //D 2 dedy ERDE.

(1) D={(x,y) eR?|0<2<1, 0<y< 1) DI TEESNI-BEH z=m
(2) D={(z,y) eR* |0z <7, 0Sy< T} OBETERSAIEH 2 = wsin(z +y)
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